b a1

255



SF a

Shaft
o B BhEI(SUJ2) Material : SUJ2(high carbon chromium steel)
BESL : BEEARIERRE Treatment : Heat treatment ground and polished
fi:d B HRC 622 Hardness : HRC 62+2
G
1.58
; 4 g ? —- 4 ]
L
S AU D AR | mABTRE HAEERE g | s
Diameter Model No. am Max Length ;;’:zef;ﬁl:;t:r’e Weight | Diameter
mm SF g6 L mm mm kg/m mm |
3 SF 3 400 L 0.06 3
4 SF 4 -4 400 0.10 4
5 SF 5 -12 2000 0.16 5
6 SF 6 3000 1550 0.23 6
8 SF 8 -5 3000 15 and above 0.40 8
10 SF 10 -14 4000 0.62 10
12 SF 12 6 6000 0.89 12
13 SF 13 17 6000 1.05 13
16 SF 16 6000 . 1.58 16
20 SF 20 7 6000 4 025;12;9:?;% 247 20
25 SF 25 20 6000 ' 3.85 25
30 SF 30 6000 2500 5.55 30
35 SF 35 9 6000 2.5 and above 7.55 35
40 SF 40 6000 9.87 40
50 SF 50 25 6000 3 0BLE 15.41 50
60 SF 60 -10 6000 22.20 60
80 SF 80 -29 6000 30andabove |59 45 80
100 SF 100 12 6000 61.66 100

256



SCF ==&

Anticorrosive Shaft

7 B : EiEE(SUJ2) Material : SUJ2(high carbon chromium steel)
EIEST : SBEEAEE  ERE Treatment : Heat treatment ground, chromium
EETEER plated and polished
B = :HRC62%2 Hardness : HRC 62+2
G
158
7 _ (5 ? # _ ]
L
NE | il Diamen rance|  EAEWEEE | BNE(ERE B | s
Diameter Model No. » am Max Length :g:zemﬁ;;t:r’e Weight | Diameter
- mm SCF . : g6 L mm mm kg/m mm
3 SCF 3 400 0.06 3
4 SCF 4 -4 400 0.10 4
5 SCF 5 -12 2000 0.16 5
6 SCF 6 3000 1550 F 0.23 6
8 SCF 8 -5 3000 1.5 and above 0.40 8
10 SCF 10 -14 4000 0.62 10
12 SCF 12 5 6000 0.89 12
13 SCF 13 17 6000 1.05 13
16 SCF 16 6000 . 1.58 16
20 SCF 20 7 6000 ) ()igiive 247 20
25 SCF 25 20 6000 ' 3.85 25
30 SCF 30 6000 25001 5.55 30
35 SCF 35 9 6000 2.5 and above 7.55 35
40 SCF 40 6000 9.87 40
50 SCF 50 25 6000 . 15.41 50
60 SCF 60 10 6000 3.0BLE 22.20 60
80 SCF 80 -29 6000 3.0andabove ™39 26 80
100 SCF 100 12 6000 61.66 100

257



SCFB sgmauh (FEs)

Tapped Shaft (Anticorrosive)

M8 BERE (SUJ2) BiEREUEIE - Material : SUJ2(high carbon chromium steel)

PRS2 E SR A ES Heat treatment, ground, chromium
plated and polished
BE : HRC 622 Hardness : HRC 62+2
L

Bie
= =il R R a -+ 4
S -0l
VAL 1A
L c
d
*P/2 P +01 *P/2
5t #E5R  SRIEREIER - RIREP/22RHE) -
Note : *is to be changed by the length L.
B {i(unit) * mm
v " = eree| < et o - -
PR il “wm 3LE8 2 | BIRE| B MELR fR RmARE B2
Diameter Type Diameter | pjtich | Nominal |Threaq depth|Counter bore] DePtOf | chamfer | Max length | Weight
tolerance screw counter bore
D SCFB g6 P M ) d t ¢ | L(max)| kg/m
(ref) (ref)
12 SCFB12 -6~ -17 100 M4x0.7 6 45 2.0 0.7 4,000 0.89
16 SCFB16 -6~ -17 150 M5x0.8 8 55 2.5 0.7 3,600 1.58
20 SCFB20 -7~-20 150 M6x1 10 6.5 25 0.7 4,200 247
25 SCFB25 -7~-20| 200 M6x1 12 6.5 2.5 0.7 4,200 385
30 SCFB30 -7~-20| 200 |M8x1.25 15 8.5 3.0 1 4,200 5.55
35 SCFB35 -9~-25| 200 |M8x1.25 15 8.5 3.0 1 : 4,200 7.55
40 SCFB40 -9~-25| 300 |M8x1.25 18 8.5 3.0 1 4,200 9.87

Example of identification number: STEEM :
SCFB 20X1500 SCFB 20X1500
(1] (2] (1] (2}
© Type: Shait diameter © 2% : EILIME
@ Overall Length O rRE

258



SCNT #wusgznmn

Anticorrosive Hollow Shaft

= B #E(SUI2) Material : SUJ2(high carbon chromium steel)
EEST  SERIET  IfERK Treatment : Heat treatment ground, chromium
EIEIEER plated and polished
B E:HRC62+2 Hardness : HRC 62+2
G
1.58
- - Y - — M — - —— 1
- - - 5 9
e R B
L
B NEED | e | AERE \grmese wimEr | gs | O E | NEeES
Outer Diameter | Inner Diameter(Ref) Model N - | Diameter tolerance Max L b | Depthofeffective | yaroipy Outer Diameter| Inner Dnameter(Ref)J
d2 d1 Model No. um ax Lengt ‘hardened layer elg d2 d1
mm mm SCNT g6 L mm mm kg/m mm mm
10 4 SCNT 10 -5~-14 1000 1.2 0.52 10 4
12 5 SCNT 12 -6~-17 2000 1.3 0.79 12 5
13 6 SCNT 13 -6~-17 2000 1.3 0.82 13 6
16 8 SCNT 16 -6~-17 4000 1.6 1.28 16 8
20 10 SCNT 20 -7~-20 4000 1.8 1.25 20 10
25 15 SCNT 25 -7~-20 4000 2.0 2.35 25 15
30 16 SCNT 30 -7~-20 4000 24 3.50 30 16
35 19 SCNT 35 -9~-25 4000 25 4.90 35 19
40 20 SCNT 40 -9~-25 4000 2.6 4.99 40 20
50 26 SCNT 50 -9~-25 4000 29 9.91 50 26
60 32 SCNT 60 -10~-29 4000 3.0 14.2 60 32

259



CRS #REgu (thize)

Anticorrosive

M £« RERH(S45C) Material : $45C
EIBEAT - REEEE Treatment : Ground, chromium plated and polished
G
1.58
* 7 & ? 7 7 ]
L
S\ RIsE Dl ELE | BKUERE =8 SME
Diameter Model No. wm Max. Length Weight Diameter

mm CRS f7 L mm kg/m . mm
8 CRS 8 -13 3000 0.40 8
10 CRS 10 -28 3000 0.62 10
12 CRS 12 3000 0.89 12
15 CRS 15 -16 3000 1.39 15
16 CRS 16 -34 3000 1.58 16
18 CRS 18 3000 2.00 18
20 CRS 20 20 4000 2.47 20
25 CRS 25 4000 3.85 25
30 CRS 30 A1 4000 | 5.55 30
35 CRS 35 4000 7.55 35
40 CRS 40 -25 4000 9.87 40
45 CRS 45 -50 4000 12.49 45
50 CRS 50 4000 15.41 50
55 CRS 55 4000 18.65 55
60 CRS 60 4000 22.20 60
65 CRS 65 -30 4000 26.05 65
70 CRS 70 60 4000 30.21 70
75 CRS 75 4000 34.68 75
80 CRS 80 4000 39.46 80
90 CRS 90 4000 49.94 90
100 CRS 100 -36 4000 61.66 100
120 CRS 120 7 4000 88.78 120

260



-
ZEbr | CEbr oLL-]0z9z
00S | 0S¥ |Gy, | 2/1+ |80 + | 89+ |Ob+ |Ob+ |2+ | €2+|G +|G +| 02~ | 02 052-(661-| J6- | €0~ O~ | 42- | 09- | 4y~ |80V S6- |G41- l0sz- |08V |0SOL- 0og |osv

9Z L+ O+ | 80L+ [ G6+| 08+ | 29+ | €9+ | 0G+ |G+ |ze+ |0z+| 2+| 9CF|S€WIo" |67 |G (0 |0 0z- | 0z- |89 -| 89~ |sEL- |0€2- [0s01-loiva-

0S¥ | 00F | 51+ | 991+ Ovb -[00st-| 0S¥ 00v
00v | SS€ |11 (661° | gor |20+ 16+ | s+ 12v | 12+ v + v + |1 |1 o1 | ozuz 05T-(OvL-| 68~ | 26~ | 98- |Gz~ | vS- | €b- |g6- | L8~ [LoL- love- 06y |056;-| 00v | ss€
oot |org | 2017 | SOk 86+ | L8 G4 |2Or | 160 O | Obr 67+ Bl | o L N N O A A A S peea o
511082 | 58,71 081r| o5+ |96+ |per | ver |0zt [0z |1 ¢ b + |01~ | 91 our oy s OVE |08 18- |26~ | 2e- ez~ | 6v- | ov- |88 |64 l2vi- fzzE- 0ge- |osol-|ve 082
08z |05z |15, |16 1| 89" |64 |90+ |15 <5+ e 08+ | L2v Ol |4+ 07" j0" 107 |07 |07 |67 Zi-| 21|96~ 195 0L (651 028 084 ga gz
osz |szz |8 1|08 v ors” Or8)|osz |szz

08 + |08 +| 0G+ |0G+| Le+|Le+|Zb+| 21+ (¥ + | +| €= €b-|op, - _|g8i-|5L1-| 22- | ov- | 62- |02 | vt | Ge- |62- |04 621 |B6L- |02Z- |09VL-
S2Z| 002 gz1. | 604+ | 62+ |02+ |09+ | LG+ |9+ | 26+ ger [pe+ |1+ |2 +|SPFF| OW " |67 16" |0 |0 |0 |SL-|Gk-|0S |0g-|00L- [0/L- |08z~ |Op. -| €% |00Z

ILw{1L + 00/~ |088L-
00z |08L |51 165, ovz- 065 - 00Z |08
89 +|8or 089~ |0Lzi-
ogL | o9 |72, T 2 05z~ logs'- o8t o9l

Eh+ | €+ | Lg+ | e+ | GL+ | GL+ € +|€ + 1 LL-| L=

59 +| g9+ = 091-|00L-{ €9~ | 0%~ | §2- | 8L~ | 6E- | ZE- |89~ | L9~ Ok}~ |0ZL- (019~ |0GLI-
094 |OVE G014 | 06+ | 89+ | LO+| 2G+ |G+ |Ob+| €€+ 82+ Law [pie| L +| S| 6 o9t |ovi

60 10 |6 |0 |0 |0 |vl-|vi-|ce- |6 (g8 - |§ki- |olz- |02S -
£9 +| o 009~ 0601~
ove oz |E3 1 £ 909" 1980V op1 |0z
bor | o 055~ |0%6-
0ZL |00k |go. | gi+r | s+ | s6+|So+|Sev ELv|Sie|e +]e + 16 -| 6 5| gslovie|ie | ve- |Ge- | ge- S| ve-| Le-| 89 | LS ¥6 - |2pL- [0SL- [OLY- ozt oo
LG+ LG | 6S+ | 25+ |Gp+ |88+ |GEr | 8E+|Gzv | SL+ [E1e | o FFH0T00 (07 |07 |0 |0 fel-| 2l 98 96 22 - |02V 025 (026 oot o8
ooL o | L3+ LS 0il- |ose-
Sy | b 05t |oze-

08 1S9 |g/v |Zor | zer |2+ |02+ |02+ LI | bis|2 + T + |2 -] 2- o6r| |02k |rL |9 | o8- |6 | g1- |62 | g2- |6v- | e |62 - |oLi- |0GL- |ooe- |08 |99
co |og |10+ | Lbr | LS+ | Gpe|BEr|EEx | OEr| 2+ | 12w |SLe | Zhe| Or F S99 0" 100 |07 |0 |G |0l OL-| 08 | GE- (09 - (00K [ovt 008" (o |os
L+ |09 opl- |ove-

08s- |0Ls-
0 [O% | ver |ver | 92+ |os|2br|L1e(6 +]6 +|2 4|2 +|S -| 6= | ool cclool|zo- |68 | gz | 9| Li- | Sz {0z | v | 9g- |99 - |96 - |0€L- loze- |95 |OF
B6G+ | 0G+ | Zh+ | L8+ |€E+ |82+ |Gr |02+ |Sbr | SL+ | Lh+ | O F| 9|6 |60 |6 |0 |0 |6 -|6-ice-|8z- [0S - |08 - [ose~ 0oL
ov |oc Oz&” 1004 lov |oe
0 [VZ | gz lgzs | 2o+ |22+ |SielSLe (8 +|8 +12 + |2 +| ¥- | b~ coil s |78 |28 |8 | b2 g |6 - |0z | ob- | e |62 les - 1 - |oze- |oge- |OF |VE
B+ | Liw | GE+ | L6+ |82+ v |Lzv | LL+ |GLr | L1+ | 6+ | Go ¥ Y0 |60 |60 |0 |6 |8 |2 -|i-|0¢-|0z-(0F - |66 - ioLl- |00e-
vz |81 vz |81
81
A LA T P> Y PR TP IS /RS PR IO (P P Gor| pel0 (g |Le-|8L-| L |8 - | 4| vi-| 2z Lve- ey - 19 - |ase- logs- ve
Lo |96+ | 62+ |92+ |62+ |02+ | 8L+ |GL+lgLe | 6+ | 8¢ | Gr 0" 6 |67 |0 |o |0 |8 -|9- 8l-]ol-|ze - |o¢ - g6 - |06Z-
vL |01 v |oL
oL |o | 6kr [Blr | GLv |GL+|Obr [0b+ |9 + |9 +|L +1 1 | & | & | gpol o289 |96~ |2 |G |6 - |9 - |¥b- | ki~ |22 |64 |¥E - |6F - (08T (005" oy |o
ver |82+ | ¥zr |12 |6l |9V (GLs | Zhe|Obr | L+ | 2+ | &l 00 |6 |0 |6 |0 |s-|g-|§i-|el-|5z - |ov - log - |osz-
o |e | SLr gkt [2lv (2l (8 «[8 vt pw| kv [ L+ [ 2= | 2| 2| gge|8V |05 8L~ 2h-|8 - |G -|2h- |6 - |8b-|SL- (8 - |8g - |06L- [0St |9 g
12+ |€2+ | O+ [LL+|9L+ €L+ |Zhe) 6+ | 6+ | O+ | O+ | &+ ¥ sz’ o0 o |6 |6 |0 |v-|v-|ol-|8L-log - |of - |oZ - |ole-
Ly | T | 24 | 94 | od |6d|gu|guigwigw| oy |cx | of | ol | gsl|gsl|o 6U|gu|su|oy|cu|9b|cb|os G| 92| 9p|2ZLo|¢cle|dn Tnr
(ww) (ww)
J d u w [ s B ) o} 2]
crpy A . 4 ! P cERY

wwLp00=w TI}E5 122 [ GRS

261



AR BN

262






